NoT oON SUCLASUS

Afl‘el‘"‘\e—é iC - bl"g'écfg,,\g @Me_j

6?-/\&(1 C({f»Sc_ Z—> 3)6»\@.,--! (DC(_(.'\Q.(

0 0 (060 (0o (O (

| J6° 16t (8 |

(
L | O
4 | 00 Lowr hoakac L
S ( O ( e A &""ctf\"kl Ewo
L I (0
oo Cinarg
g IOOD 2 “
T 2 U |
8 4 21

g- + (a (~ L’)(f\c..l‘k(

Oééul ”2%&»‘(2\,\“(

16 S a2l 0

g ¥ |
6+ € |




oc_@g[ CAen e.afc('." l'e.fh.c.< LI%&.:‘»{
Hec« 2. € _ A 3 7
eq [o1(lolo ool L\

P

et 2. 1 z 4 7

(/Lexa. }ec:«..:. ( (é GhH'U“*\ ¢

Ol 2724 €678 4 AECEDETF

\Zaqu\
T L T vV VI vil Vul ¥ X

c M

—
Slm<

gLA Zgui—\ 42 fec
4Lr5 d.g‘h:* 3 sec 4

10 Lo 2 4 n~ 2 | fec

2 Tes 30\ wia 44 s<c
Uy 4 B e 32 S=c

“— 20 Sec
4 55

H hes 23 i lial 3 é Jec



12 t‘v\b'-\e.ﬁ — [fCoo’k‘
z “Cﬂ“-l‘ - } :]““NA

22 :ta/w(g = \ cldia
[O C,L&:v\g - " furlo"lj
8 /fur lu~3> = | e le

1760 yards = [ wile

é3,3éo («;L,L(,g - } ““-:'\LQ

LCk)M\ “AJS ’{"CC‘é' 'l"lCL\.q

4 Pl X
g \ <

| \

‘8 L{/(S L4¢ 4.1-«;

oz 1Y
} é ovnce - l (0\:“/(
IA, povnds = ) cbone
< e ht
¥ J«]’u-«ﬁs - l \’\UV\/(:“'ZW SL‘

20 L\/hjw'tutiké’ = ( ’eovx

ES{’ )’2 )):»! ” o2
2 ¢k T lbs 1262
( |

6 st 6l 71 ez




[V(Dv-c.j

)l Fe«\l—\'\-c-& -
R0 JLJl\-.Sg S| Foual = ’Zl
va s A
s 7
318 6
40( o $J
T = V.l418<1
e = 23.1428%
=
Su&'(:rngf(’t'dg
814 — 24727
'Z:X-IZ‘O*‘A’
249720 —
3 3 7/

+ M

-
4s hes FY e (4 s<c

7 ks 4.&«%-.'&4 3

Sec  —

2 hes 4——1 win 2[

SeL



Ve N
EXercis<

17 (n 43 Cec¢
\ Y 4 4 - L Sec —
L bkes 3 3min 04 ce




